ﬂ_\we,..m
3
=
8
E
B &




$=1:50

TEFRZR3ASH

GH=8. 988

500 5,900

| -

EHEl () (TBHEE)

M
FREELDS
EEIG) (ANt

KCOEEFAY A XERTES B,

534885 RS

A9 BERE KOS

I ¥ % |TEFAZRNSKEVTEFSRIMSRK
KEHBITH

L&A EMHILETFSR A

HEDTER BREHARX

& R $=1:50

HEES

. WA
ERFE REIES B




el X (1)

. S=1:50
TEFZRIIEHE
+8. 0
T GH=8.988
500 5,900
7
¢
N
Al @ m2 7.90
HEHI(3) (ANFA) m2 0.12
No, 0
T GH=9.816

5. 900

' #l @ m2 —

REIG) (A m2 _

534885 RS

A9 BERE KOS
I ¥ % |TEFAZRNSKEVTEFSRIMSRK
KEEBTE

L&A EMHILETFSR A

HEDTER wemmERE 0

® R s=1:50 |E@EEE| 9 10

XCOEEEM YA RERTET B, | FREA 33




te T E X (2)

=150
HEFZ RIS
+28. 4
T GH=6.878
500 5. 900 500
7 Q
% >
L, N N
B OH @ m2 | 11.80
mEIG) A |m| 012
+20. 0
GH=7. 747
500 5. 900
7
<,
fEEI(2) (EB#EE)
V1 = 1/2%(0.0+7.9) x8.0 = 31.6
V2 = 1/2% (7.9+49.2) x12.0 = 102.6
V3 = 1/2x(9.2+11.8) x8.4 = 88.2 P—— T om
V= 222.4m3 EEIG) (AR | m2 0.12
A (3) (AALHEE)
V1 = 1/2x%(0.0+0.12) x8.0 = 0.5 GBS P
- - TR ERE X RS
V2 = 1/2x (0.12+0.12) x12.0 = 1.4 I ¥ 4 |TEPBRNSREUTEFBRUSH
$TEATE
V3 = 1/2% (0.12+0.12) x8.4 = 1.0
BIEFE | RHELAFEBE e
V= 2.9m3
BEOMSE | #EEE ©
BLELS V= (222.4+2.9)-17/0.9 = 206.4 m3
® R s-1:50 | EmEE| 10 /10
o R _ 2w EB S
K ZOREIFAIY A XERTET D, BEFL EPEHIEEEF




T H

$=1:200

TEFE RS2SR

T 4 e
s
-~ | L59.0m  (V=66. 5m3
BE=L

/,/Af7_7m%

RE

’ A=226.2 m2

[\

[ HE 7 VR NEEGE (T1) KS
|/ FHZ541.830

KBM1_H=542. 15(

(f8) 7" bEvabUEMENE (T1),
B 7 VAR NUEEIE (T1) R L=16. 4m

H=541.780 THES) EIEZE (T1) N=6-104%

KCOEEFAY A XERTET B,

E K 54905

SRS

I % 4

FRR29F ERTE AL S
TEFSRNESREVTTERERIMSE
KEEIBIE

L&A

EMHILETFSR A

HEDTER

it R

E == 33K




# M E X
TE A R 525 R

_NO.0+4.00

(T 88) 7" LR bUBLRIE (T1)

FARE (RC-40)

EnER
(18-8-40BB)

KBS BB

FR294F EERTE AR S

I ¥ & |TERZRSHRUVTEFDRIESRK
KEEIBIE

L&A EMHILETFSR A

HEDTER BERFER

it R $=1:100 HEES 2 /10

XCOEEEM YA RERTET B, | FEA 33




DL=530. 00

Vv532. 11

NO. 0+4. 00
=542 10

£
S
7>

DL=530. 00

NO. 0
GH=541. 79
FH=

Vv531.79

+4. 00

%] #5l

\EID | B

RiEY T®

#BRL W) #At

B+

NO. 0

i %]l #51

[EEIOIIER)

RiEY T®

BRL ) AL

%t

(ER{$EB)

[ £ ]

KCOEEFAY A XERTES B,

KEEA905

E

pa

X

I % 4

FRR29F ERTE AL S
TEFSRNSREVTTERERIMSE

KEEIBIE

L&A

EMHILETFSR A

HEDTER

®omom E (1)

it R

$=1:100 HEES 3 /10

E == 3]

BWE R D
EMIEEHN



Mo m K (2)
TE S 5224

®oEa) (&)
RIEY ()

(10.9+11.2) x1/2x4.0+(11.2+13.8) x1/2x5.0 = 106. 7 m3
(2.6+2.7) x1/2%x4.0+(2.7+2.4) x1/2%x5.0 = 23.4 m3
BRLO) GREX) (2.7+2.3) x1/2x4.0+(2.3+3.6) x1/2x5.0 = 24.8 m3

B+ (&) V=(17.9+35.6) x1/2x4.0+(35.6+14.2) x1/2x5.0 = 231.5 m3
B+ (B{tER) V=(0.0+13.4) x1/2x2. 7+(10.5+0.0) X 1/2%2.6 = 31.7 m3
Bt (1) GiEL) V=106.7+23.4—24.8/0.9 = 102.5 m3

Bt (2) (BBAL) V=231.5+31.7—102.5 = 160.7 m3

< << <<
i mn

NO. 0+9. 00
GH=542. 03
FH=

+9. 00
k]
A ()
RiEY
#BRL (1)
%t

(Bt )
[ £ ]

Vv532. 11

EKEL905 BEEK
RS A E R RESS

7 - I % & |[TEFERNERRUTEFRRUSSE
DL=530. 00 , SHEMBIE

L&A EMHILETFSR A

st

HEDTER w®owmoE R (2)

it R $=1:100 HEES 4 /10

XCOEEEM YA RERTET B, | FEA 33




I % (1)
TE A R 52 R

ENXBEERENER

ENAEERFAR
$=1:50 5=1:30

0. 4m avyly—=+F
18-8-40BB

BIRER L=9.0m

FEHAEEE 1=9. 0m (V=66. 5m3)

5. 0m

Vv532. 11
Vv531.79

X— XIS
KRN 47 (VP 3100, 2. 67h/ &)

10m2 IC1&fRrET S
]
N AoV Y— ¢

(18-8-40BB)

4. 5m
4. 8m

4. Tm

SL=4. 6m
=4. 8m

DL=530. 00
0.1m

4.00m _SL
4.30m _ SL

4.20m _ SL

H
H=

4. 10m

H=
H=
H=4.30m _SL

TiER
AR
No. 0
+4.0

+9.0

a9 1)— bk (18-8-40BB)
V=(7.35+7.74) x1/2x 4.0+ (7.74+6.80) x1/2x5.0
BB
A=(4.7+4.8) x1/2x 4.0+ (4.8+4.5) x1/2x5.0
+(4.2+4.3) x1/2x 4.0+ (4.3+4.0) x1/2x5.0
+7. 35+6. 80 94.2 m2
HARA (RC-40)
V=(1.70+1.75) x1/2x 4.0+ (1.75+1.60) x1/2x5.0 = 15.3 m3
EfEaLHy)—+
V=(3.3+3.4) x1/2x4.0x0. 14+ (3.4+3.2) x1/2x5.0x0.1 = 3.0 m3
HpEo LRy
V=0.1x9.0x2 = 1.8 m2
HEEEF
A=(3.3+3.4) x1/2x 4.0+ (3.4+3.2) x1/2x5.0 = 29.9 m2

A
A= (0.5+2.7) x1/2x4.8
A= (0.5+2.6) x1/2x4.6
2A=T17.74+7.1 =148 m2

SKEEA90E  ERRK

TR29FEREXBESS

TE4 | mafsRNESRRUTEFSRUSS
KEFEBIE

L&A ETEILETHESE K

REOEHE | T o)

"R mx |mEEs] 5/10

¥ Z IFA1H 4 XERS . i 2R R
XKCOEEFAMY A XERTET S BERL Ul 3-




I % (2)
E A R 525 R

EEIE%§1

0 ﬁﬁ@ﬁ%%ﬁﬂ (hE) LBAERE

=1:100 ($Ef5Co) S=1:20
0. 40m

16. 4m 0 ‘@“
< £
HEIREE  L=9.0m EI:&ZZ:E

9 Om . 0. 50m

PrEAE A=0.045 m3/m

(F8) CorkEHEaniE

V=0.045x16.4 = 0.7 m3
(TE) SHERREIE

L=17.2m

(hE) RE - SEhRBR
A=0.40%16.4 = 6.6 m2

(TE) AsTREH IR
V=0.05%6.6 = 0.3 m3

(&) 7° L¥vaAUEMEIE (T1)

$=1:20

fIET FXLI L=16.4m
RIEY - HRLHELS
V=3.2/10%x16.4 = 5.2 m3

BRLO2
V=1.9/10%x16.4 = 3.1 m3

OB % 10m Y
£ (71 ) % Hf = & £
U=iE 300B ZN H4INERTE B &
BELZIL 1:3 m3
#BLavyy-+ 18-8-40BB m3
¥ LB m?2

HEEEIE m2

B £ + T
S L1
®E - REER FRIE Y
b EREE - A=(6.7+10.0) x 1/2x 4.0+ (10.0+3.9) x1/2%5.0 = 68.2 m2 BEL Q)
TEREME : A=(1.242.7) x1/2x10.04+10.0x9. 0+ (0. 9+2.6) x1/2x10.0 = 127.0 m2

NOB:1.56%x9.0+2.7x1.5%1/2+1.6x9.0+2.6x1.5x1/2 = 31.0 m2
& & =226.2 m2

SKEEA90E  EREK

TR29FEREXBESS

TE4 | mafsRNESRRUTEFSRUSS
KEFEBIE

L&A ETEILETHESE K

HEOEHE | T2 @
R
XZOEEIEMY A XERTET S, HEFL




	伊勢見３４号
	伊勢見52号線

